BE¥ v —ax”



1 BE#ET57

§ 1
§ 2

BE# y—ax?
B y=ax? DTS 7

2 B y=ax® DEDEIL

§ 1
§ 2

3 B y=ax? DOF

§ 1

5 g 3 _
f]f y=ax?> DIEDIFE &%
HE y=ax? 0)?’2“:,0)%']’%&-

BOE a5
HlY DOREE y=ax?

)\‘g'l:



§ 1 PA3K y=ax”
VIR H33% 6 5 o fd ¥ FREE O P 1%

PR %L 5
P (1) O 01 02 03 04 0.0

MR 5 0

JEsE vy (m)

x DIE % 445, 94, 164F, - - - T B ¥,

y DfEd N N Lo ¥ TTWT,
y 13 x? 1c L TW5b,

y O, X2 DD fEFIZH 5> TWBE DT,

y Zxnz.



(P69 #] 1)
y=ax* TR IN5MK

WK DY Z 5 HY
S| 0 01 02 03 04 05

x2

AR DY 2 5 HY
7 368 1y (m) O 002 008 0.18 0.32 0.50

EZ0 L, ZofF&@ Tl x ¥y o1&

55,

(P69 ] 2 )
(1) (2)



Cy=ax* KAL)
y Hx DT,
yortx D RN TERINLGMHE %,

( HI—RE el )
xDE:2 nfEd5, yofEld Flckh,
y 13 x? I L TwW5,

DY i, g RBIESR YW,

Y3y ERInhb,

Y,



(P70 %)% 1)
yhHhyax DFIZHA L TWT, =2 H¥ 5 y=—28
Thb, x,y PEGBLERIZERL & 3,
b8t a ¥ 5 ¥
X=2 DY X yY=28 IZH° 6,

L7=%»5> T,

(P70 P 3)
(1) y=ax? (2) y=ax?



(P70 #RE QD)
Faryxlts7%2y., K% axm ¥ T 5 ¥
y 2ax D FEITHB T S 05,

x=40 D ¥ % y I,

X=b D¥ %y li,

L 7=%»5> T,






(y=ax* O M1& D HH])

R DIE L A3REEIY. 5L A B o LA T
e
- EFBo@fFlr, 1A0&ES D ZFEICWHET 5,
- Ho@ECEHo k@t ld, FRAO _FICHRAT 5,
- BET AWK D TRV X —13, ERE D EIZILA]
3 5,

- AN ESL, BERETESL, TV E2&TITAH,. 7
79 NTHR=INEITORYEDEAES, LTh i3k
X EIZWE T S,
http://www.aero—bike.com/partner21.htm

- N DOFOWRICH 0 HKEL, RO IR
T 5,

http://nycniye.go.jp/BOOK/anzen99/06/
6—-3-01-2.html



- A EORNEFER(TL —F XX I THLE
W35 F ToFEEE) X, RED ZFEIZILE T 5,
AREIZ, B0 FI2IHT 5., (BMITFHER)

12K E (kg)=4% &(m)* X 22
http://www.alles.or.jp/ spiegel/bmi/

(Foh4m)
B 5 X3, FEEEO —FICILH L T L 5,
http://www.monominami.jp/hikarikankei.html
- HUE R YR E DAL, RO IS L TEg <
5
http://www.tokyo—nazo.net/ tenten/free/
20020621 .html



8§ 2 Mi¥ky=ax? D7 7 7
(XS VT y=x D77 7)

x| 4 -3 -2 -101 2 3 4

Yy




a1

U

oy
1




(2L Cy=x? D777

x| 4 -3 -2 -1 01 2 3 4

Yy

X [--30 —20-10-0o0 00 1o 20 3.0

Y

(A y=x? D 77 7 O ¥
s RO E Y LT b b,
238 D), xB D 12H 5,



1
1J
14
1~
19
1J
) v,
11
1L
10

S

o)

D

T

®

N

1 &
1J
14
PSS
19
1J
) Y,
11
11
10

P

D

B

i)

B

N

4

5

q
<

(
2

19 1

0‘3 q
g 44

A=

4

5

€
<

€
2

3-2-10 1

q
<

4 -




(g y=x DR AL DT 7 7))

x |-—-1 -09 -08 -0.7 -0.6 -0.0 -04
Yy

X -0.3 -02 -0.1 O 0.1 02 0.3
Yy

X 04 0o 06 07 08 09 1




0.5

U.J

=

—0.5




(kW y=ax? D77 7)
-k y=2x* D7 77

X [-20-2-15-1-000 05 1 10 2 25 -

' F%fiiy:%ﬁ NI 77

xX|--o0-4-3 -2-10 1 2 3 4 o -




AP’ =

AP”=

X

1/:'132
J

-
e
—
]
e
=
-
-\\

A3 210 1 2 3 4




(Pt e 2 A7 :é DAY
-k y=—x° D777

x| 4 -3 -2 -101 2 3 4

(PFA%k y=—x° D75 7 DFEE)
Y RO L LT Tdh b,
i D . xh o I2d 5,
cy=x*n 77 7Y ExAfhosmy LT Th b,

LBV A D E 2)

- B y=—2a°, y:—%xz W



x2

X

-
Y

:2x%

[/
e

Yy

J
X
D)
J
9

\\

A\

ﬂLB%%L? 1 2 3 4

X

y=x"

- O

L( N

ﬂLB%%L? 1 2 3 4




(B4 &%)

ZREFEO T T 7 LF LN LR L
W),

gz, ) L o -gg T, 7 B
Thbd, 2O % YA By
&R D K& %, YN )

o

"




- M3k y=ax? 7> 7

O Miky=ax? o7 7 713
T. ZDO%h|1 .

T8l Th A,

@a>0 v x, 77711
X 7 i2dHh . IZH
W T W 4

a<0O0on¥xx, 7773
X &8 D izHh.  ITH

W T W5
-




